
 
e.5

0  
i.5

0 

 
e.

38
 

 
e.5

0 

 
e.4

2,4
 

 45 

Pipe N° 1070
Cod.303378201Short helical spring

tensile
Cod.204387

Short tube in
silicon rubber
Cod.204412

Allen screw
M8X40 T.C.E.I.
Cod.200993

Allen screw
M8X20 T.C.E.I.
Cod.200722

Allen screw
M8X30 T.C.E.I.
Cod.202491 Plain washer 8x24

Cod.200321

Mounting plate M8
Cod.204406Inox bracket

Cod.200733

Aluminium spacer
SBK d.27X8.5 
Cod.204321

Aluminium spacer
20X10X8,5 
Cod.200414

Knurled collar 
nut M8
Cod.200298

2 Inox bracket A1
Cod.304972501
+
2 Rubber seals
Cod.200653

Silencer L.400 LEOVINCE X3
Cod.303378401

-SGI 3928 SCEEN TYPE
 USFS APPROVED
-SGI 5101 e13 0135

 1
26

 

 95 

DB Killer
Cod.305074801

Slip-on LEOVINCE X3 OFF-ROAD ENDURO 
OMOLOGATO - ALLUMINIO.

Art. 3378

SUZUKI DR 650 SE X USA 


	Foglio1
	Vista del disegno23
	Vista del disegno24


